Keely Net Mail List: Aether Viscosity and Waves

Aether Viscosity and Waves

Jerry Wayne Decker ( jwdatwork@yahoo.com )
Fri, 23 Oct 1998 13:13:11 -0700 (PDT)

e Messages sorted by: [ date ][ thread ][ subject ][ author ]

¢ Previous message: http://www.keelynet.com/interact/arc_7_98-12_98/00001686.htm

e Next message: Terry Bastian: "Re: Sound Breakthrough"

Hi Folks!
Something to think about with regard to waves and aether viscosity.

I think this is very important about the push/pull effect of each half
of a wave (well, this viscuous reactive wave that occurs in the 2nd
and 4th quarter of every wave) because it ties in directly to
viscosity in mass and in aether.

If you think about it, it is really the viscosity of AETHER in the

mass which is RECOVERING FROM THE STIMULUS, whether it be driven
positive as a pressure (high density) wave or driven negative (low

density wave - preferably below the background level..<g>.) as a

vacuum or low pressure zone.

Puthoffs paper on 'Zpe/Aether as Inertia' points this out with the
observation that when driving at 60 mph and you slam on the brakes,
'something' pushes you against the steering wheel....inertia? Yes

The release of stored (potential) energy into kinetic energy? Well,
yes but what is the source?

It is Aethers interaction with mass, like filaments that seep into and
lock mass into space....move, vibrate or stimulate the mass and some
of the filaments can't hold their connection, so you lose inertia, you
lose gravity and you get other effects.

When the mass slows or stops, these aether tendrils move back into
mass to restore the mass to its locked position in space and time.

In other words, mass resists motion because it is locked into space by
aether. Check out the Reynolds 'aether as dilatant matrix' papers at;

http://www .keelynet.com/energy/reynold 1.txt
http://www.keelynet.com/energy/reynold2.txt
http://www .keelynet.com/energy/reynold3.txt

The positive wave, (0-90 degrees) is the initial push, the expansion
stimulus.
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Once it reaches its peak, the power supplied is removed or reduced and
the wave (from 90-180 degrees) is the aether and medium recovering
from that expansion wave, I think is a common effect that directly
correlates with what Puthoff talked about in his "Zpe as Inertia' paper.

Once the wave has again reached the ground state of O which is really
the 180 degree point, it is now PUSHED DOWN (for 180-270 degrees) into
a less energy dense bubble in the energy density of space.

The greater this amplitude of this negative half wave, the more
pronounced will be the ambient aether and other mediums attempt to
restore equilibrium by infusing and trying to fill up the lower
potential area.

Once the wave reaches its PEAK VACUUM LEVEL (at 270 degrees) it must
return back to zero which is really the end point now of 360 degrees.

I should make the distinction of a POWERED wave as we do with
electronics and a natural wave which is the gradual reduction of
energy as it expands through the medium.

In a powered wave, which maintains amplitude much longer than a
natural wave because it is continually fed, the waves are FORCED to
move up into the max positive, then down through the zero point
crossing, then further down into the max negative and back up to zero.

Now consider a pond. Drop a rock in the pond and you get a one time
stimulus which causes the waves to move outward. The pressure wave
that throws the fluid upward, is pulled back down by a combination of
the viscosity of the fluid as well as the mediums' natural return to a
restoration of equilibrium (i.e. a condition of no polarity, no
difference of potential).

Aether being associated with mass produces this additional restorative
force that is OVER AND ABOVE the normal static particulate coupling of
mass to mass (i.e. stickiness/viscosity). This is what we need to

learn to tap into and take advantage of.

So, if you use a wave that is clipped so as to allow ONLY the 1st
quarter to appear in your medium, you will get a purely positive
impulse which will not be subject to the restorative force because you
removed the power when you achieved the 90 degrees point.

When applied electrically, you get only the positive expansion wave,
without the recovery wave.

The same applies to the 3rd quarter of the wave, that is the negative
going wave, when applied electrically, you create a vacuity that is
not empowered to recover and thus cancel the forward motion of the
negative going wave..
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I know, it is confusing but I think it has possibilities because the
waves are open ended, which would cohere the aether into a 'flow
pattern' moving in one direction that did not roll back on itself to
cancel or interfere with the effect.

DO YOU YAHOO!?
Get your free @yahoo.com address at http://mail.yahoo.com/

¢ Previous message: http://www.keelynet.com/interact/arc_7_98-12_98/00001686.htm
¢ Next message: Terry Bastian: "Re: Sound Breakthrough"

file://C:\V_Library\LL_Theory\Alternative\Keely%20Net%20Mail%20List%20Aether%2... 12/31/2008



